Math 262 — 22 September 2022
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7. A sequence of n independent trials are to be performed. Each trial results in a success with probability p
and a failure with probability 1 — p. What is the probability that...

(a) ...all trials result in successes?

Let A, be the evert that the th foal st In success.
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(b) ...at least one trial results in a success?

Complad T (o wece)= P(N n AN a AL = (4p)
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(c) ...exactly k trials result in successes?
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8. If Aand B are independent events with positive probability, show that they cannot be
mutually exclusive.
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hcc ome A,ﬁ dre. ,Mdrua//y exclucive.
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P(Aa B) =P(AP(R) , (A~ C)=P(A)P(S)
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